ElectronAsMinimumLife

Ode to the Planck Relation E = nhf

Wheeler knew Einstein as well as anyone could;

He saw the real world like a good physicist should.

Having digested Einstein and his theory so strong,

He wrote:” How could we be so stupid for so long?

Princeton still has him there as far as one can tell.

When he drops the other shoe they will ring a bell!

I do it for him and extend “Gravitation”

Make n count for electrons in Planck’s Relation.

But hold on, there is a companion piece to do,

Letting f equal v-squared drops the other shoe. 

Visible matter mass as a count of anthropic electrons of mass, h,

In kinetic theory it is clear that if speed of motion, v, is constant, you do not need to divide it by 2 to get an average speed. So the energy defined by moving a mass, M, over a unit of distance at constant speed is simply E = Mv2. But what defines a unit of distance here. The fact that frequency is a direct measure of energy at the quantum level as in E = hf gives us the clue we need to clearly visualize the mechanical details of what mass, energy, force must mean to make good practical sense. If we define energy along a given line as force times distance, then distance is defined as energy divided by force. No other meaning is required and it is what  “dimensional entanglement’’ has to mean. Space and time are interdependent in a dynamic 3-D geometric way that we do not yet fully understand.

We define Force in terms of mass times it’s acceleration or time rate change of momentum, where momentum is Mv. When v is constant, is acceleration zero because there is no rate of change of momentum? The answer must be no; it takes force to keep mass moving at a constant speed because of the built-in inertia of space. But do we really know what inertia is -having learned about it from Einstein? If his space warping theory does not work at the quantum level, it really cannot be expected to work anywhere in ultimate mechanical detail. How then was he able to predict in the middle-size ground so well? The answer to this greatest puzzle of all time requires we fully visualize the Planck relation that first defined what a minimum quantum of energy is, and insist that it also define minimums for mass and force. Using F = E/d one derives below the fact that F = nhf/d = Mv2/d, but only if n is the number of electrons moving in parallel, M = nh and f = v2, and a new sense of dimensional homogeneity is required: where distance is stretchy for living matter—which matter is bound by living stretchy electrons. 

The n in the Planck relation, E = nhf, is a count of stretchy molecular size electrons traveling in parallel with each pulse, f, Had Einstein knew this, he would have won the argument with Bohr and come up with a new model for the atom. 

New Stretchy models for Planck relation, atom, electron and quantum

So now that we know n in E = nhf, is a count of electrons, how do we visualize the pulsing process that transfers mass to produce pulsing energy at a constant speed of v? We must finally see with great clarity of mind that we do indeed need to break mass down further into a quantum wave count of Higgs particles. The electron becomes a particulate wave forevermore, and its constant mass means a constant count of Higgs particles in helical wave string tandem! Planck’s relation provides an h-symmetry that allows good prediction even when we cannot count right! 

It takes precisely 1/h Higgs particles to form one world line turn of the wave as it extrudes around a spinning dark matter (material) point of radius R to another touching next door. A ray of radiation, at whatever frequency of pulsing, is a lined up sequence of spinning material points of radius, R, and Higgs particles are being extruded around their periphery in a chaining helical string manner to get from A to B in Hubble’s log plot of star data! The sweet spot of pulse level detailed is that it takes precisely 1/h quantum-photon one turns to equal one electron, and precisely 1/h electrons pulsing in parallel to equal one unit of mass! 

Unit distance is defined for living matter by one molecular-size electron length of a helical string wave. Atomic spectra are really molecular spectra and the Bohr model of the atom should be abandoned. In space the only guarantee of distance we have is that the typical molecule to atom size ratio is roughly 137! If we get too close to the sun, all our electrons will be stripped away to leave us unbound and totally non-existent as visible matter! Open space merely stops our chemistry! 

Electron energy in open space is E = hc2. It’s travel distance per second is thus equal to c, so that Force of the electron in open space is Fec = Ee/de = hc2/c = hc = H0; the corrected Hubble constant. Forget universe expansion! In open space the stretchy constant mass electron has a length of c so that the force of impact it would have at that speed if tested in an accelerator whose gap length is c, would not be hc/2, but hc; because a single electron segment of a ray of radiation has no start up zero speed, and c acts as constant pulse acceleration. The Hubble constant is both momentum and force for the electron-as-minimum-measure of radiation in open space, regardless of detected frequency as a direct measure of linear energy, v2.

The gap length in a vacuum chamber determines not only maximum speed but also electron length, no matter how many, n, of them are traveling in parallel! No wonder Wheeler concluded we are stupid. But particle physicists can feel really smart once they believe it, and start counting n in E ( nhf ( Mv2 --so they can keep up with electrons in parallel. It seems very likely to this physicist that the scattered dots in slit experiments are individual electrons. One imagines Einstein would agree at:
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